Solicitation No.: CITB-0014-25

Solicitation Title: Fairington Road Sidewalk Project

Advertisement Date: 9/30/25 Bids Due Date: 11/12/25



Advertisem	nent Date: 9/30/25 Bids Due Date: 11	1/12/25		•		-						•							
			Bidder's:	Azimuth Co	ontractors LLC	Complet	e Site LLC	Daf Con	crete, Inc.	Double A&A Pavid			ighway Cable er LLC	IP Con	struction	R&B De	veloper, Inc	Sol Consti	ruction, LLC
Code	Description	UOM	Quantity	Price	Total Cost	Price	Total Cost	Price	Total Cost	Price To	otal Cost	Price	Total Cost	Price	Total Cost	Price	Total Cost	Price	Total Cost
1	Mobilization / Demobilization	Lump-Sum	1	\$5,000.00	\$5,000.00	\$20,500.00	\$20,500.00	\$50,000.00	\$50,000.00			\$7,000.00	\$7,000.00	\$5,150.00	\$5,150.00	\$14,500.00	\$14,500.00	\$6,200.00	\$6,200.00
	Maintenance of Traffic (MOT) - Traffic Control	Lump-Sum	1	\$119,620.03	\$119,620.03	\$49,500.00	\$49,500.00	\$50,000.00	\$50,000.00			\$63,000.00	\$63,000.00	\$5,787.65	\$5,787.65	\$13,500.00	\$13,500.00	\$29,800.00	\$29,800.00
2	Landscape and Maintenance Services	Year	1	\$29,311.12	\$29,311.12	\$64,500.00	\$64,500.00	\$100,000.00	\$100,000.00			\$6,500.00	\$6,500.00	\$7,725.00	\$7,725.00	\$1,200.00	\$1,200.00	\$14,000.00	\$14,000.00
	Tree Removal and Root Removal Services	Lump-Sum	1	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00			\$5,500.00	\$5,500.00	\$15,450.00	\$15,450.00	\$1,500.00	\$1,500.00	\$2,820.00	\$2,820.00
210-0100	Grading Complete	Lump-Sum	1	\$162,374.96	\$162,374.96	\$121,699.00	\$121,699.00	\$75,000.00	\$75,000.00			\$50,000.00	\$50,000.00	\$140,537.50	\$140,537.50	\$167,101.00	\$167,101.00	\$177,797.00	\$177,797.00
441-0104	Concrete Sidewalk, 4 IN	Square Yard	1520	\$40.11	\$60,967.20	\$65.00	\$98,800.00	\$50.00	\$76,000.00			\$49.17	\$74,738.40	\$51.50	\$78,280.00	\$45.00	\$68,400.00	\$45.90	\$69,768.00
	Class A Concrete, Retaining Wall (Raising Culvert Head Wall) The dowels and epoxy shall be included in the cost for the concrete	CY	2	\$800.00	\$1,600.00	\$1,650.00	\$3,300.00	\$1,500.00	\$3,000.00			\$3,300.00	\$6,600.00	\$1,802.50	\$3,605.00	\$2,500.00	\$5,000.00	\$4,082.00	\$8,164.00
500-3800	Class A Concrete, Include Reinforced Steel (BUS SHELTER PAD)	Cubic Yard	11	\$727.14	\$7,998.54	\$1,650.00	\$18,150.00	\$800.00	\$8,800.00			\$1,120.00	\$12,320.00	\$360.50	\$3,965.50	\$450.00	\$4,950.00	\$750.00	\$8,250.00
441-5008	CONCRETE HEADER CURB, 6 IN, TP 7	Linear Foot/Feet	12	\$14.44	\$173.28	\$35.00	\$420.00	\$20.00	\$240.00			\$23.20	\$278.40	\$24.72	\$296.64	\$30.00	\$360.00	\$119.00	\$1,428.00
	Concrete CURB & GUTTER, 8 IN X 30 IN, TP 2	Linear Foot/Feet	231	\$20.11	\$4,645.41	\$30.00	\$6,930.00	\$30.00	\$6,930.00			\$37.00	\$8,547.00	\$26.78	\$6,186.18	\$26.00		\$29.00	\$6,699.00
609-1000	Remove Roadway Slab	Square Yard	274	\$15.00	\$4,110.00	\$28.00	\$7,672.00	\$30.00	\$8,220.00			\$32.00	\$8,768.00	\$72.10	\$19,755.40	\$10.00	\$2,740.00	\$29.00	\$7,946.00
	Remove Concrete Curb & Gutter All Sizes	Linear Foot/Feet	182	\$9.00	\$1,638.00	\$5.00	\$910.00	\$5.00	\$910.00			\$38.00	\$6,916.00	\$12.36	\$2,249.52	\$8.00	, ,	\$10.00	\$1,820.00
610-1055	Remove Guardrail, TP W	Linear Foot/Feet	251	\$5.00	\$1,255.00	\$25.00	\$6,275.00	\$50.00	\$12,550.00			\$42.00	\$10,542.00	\$10.30	\$2,585.30	\$10.00	\$2,510.00	\$12.00	\$3,012.00
641-1200	Furnish and Install New GUARDRAIL, TP W	Linear Foot/Feet	435	\$25.25	\$10,983.75	\$80.00	\$34,800.00	\$100.00	\$43,500.00			\$80.00	\$34,800.00	\$26.01	\$11,314.35	\$26.00	\$11,310.00	\$30.00	\$13,050.00
641-5012	Furnish and Install GUARDRAIL ANCHORAGE, TP 12	Each	2	\$3,250.00	\$6,500.00	\$485.00	\$970.00	\$2,000.00	\$4,000.00			\$3,500.00	\$7,000.00	\$3,347.50	\$6,695.00	\$3,500.00	\$7,000.00	\$3,830.00	\$7,660.00
643-8200	Furnish and Install New BARRIER FENCE (ORANGE), 4 FT	Linear Foot/Feet	300	\$2.88	\$864.00	\$7.00	\$2,100.00	\$1.00	\$300.00			\$2.00	\$600.00	\$4.12	\$1,236.00	\$1.50	\$450.00	\$3.50	\$1,050.00
550-1180	Furnish and Install STORM DRAIN PIPE, 18 IN, H 1-10	Linear Foot/Feet	8	\$129.98	\$1,039.84	\$250.00	\$2,000.00	\$100.00	\$800.00			\$74.00	\$592.00	\$97.85	\$782.80	\$210.00	\$1,680.00	\$209.00	\$1,672.00
	Furnish and Install FLARED END SECTION, 18 IN STORM DRAIN	Each	1	\$1,476.31	\$1,476.31	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00	NON DECD	ONCINE	\$750.00	\$750.00	\$2,060.00	\$2,060.00	\$1,850.00	\$1,850.00	\$3,195.00	\$3,195.00
668-4300	Furnish and Install STORM SEWER MANHOLE, TP 1	Each	1	\$3,892.60	\$3,892.60	\$2,850.00	\$2,850.00	\$2,000.00	\$2,000.00	NON-RESP AND N RESPON	ION-	\$2,250.00	\$2,250.00	\$5,150.00	\$5,150.00	\$4,500.00	\$4,500.00	\$5,060.00	\$5,060.00
162-1300	Furnish and Install EROSION CONTROL CHECK DAM, TYPE	Each	15	\$425.00	\$6,375.00	\$250.00	\$3,750.00	\$200.00	\$3,000.00			\$65.00	\$975.00	\$257.50	\$3,862.50	\$50.00	\$750.00	\$293.00	\$4,395.00
163-0240	Furnish and Install MULCH	Ton	23	\$250.00	\$5,750.00	\$24.00	\$552.00	\$50.00	\$1,150.00			\$352.00	\$8,096.00	\$515.00	\$11,845.00	\$50.00	\$1,150.00	\$500.00	\$11,500.00
165-0030	MAINTENANCE OF TEMPORARY SILT FENCE, TP C	Linear Foot/Feet	1260	\$0.75	\$945.00	\$2.50	\$3,150.00	\$0.50	\$630.00			\$0.90	\$1,134.00	\$1.03	\$1,297.80	\$1.00	\$1,260.00	\$1.20	\$1,512.00

165-0040	MAINTENANCE OF EROSION CONTROL CHECKDAMS/DITCH CHECKS	Each	8	\$187.50	\$1,500.00	\$88.00	\$704.00	\$50.00	\$400.00		\$0.90	\$7.20	\$51.50	\$412.00	\$25.00	\$200.00	\$412.00	\$3,296.00
167-1000	WATER MONITORING AND SAMPLING SERVICES	Each	20	\$50.00	\$1,000.00	\$750.00	\$15,000.00	\$750.00	\$15,000.00		\$250.00	\$5,000.00	\$206.00	\$4,120.00	\$25.00	\$500.00	\$825.00	\$16,500.00
171-0030	Furnish and Install TEMPORARY SILT FENCE, TYPE C	Linear Foot/Feet	2520	\$3.90	\$9,828.00	\$8.00	\$20,160.00	\$3.50	\$8,820.00		\$6.00	\$15,120.00	\$4.12	\$10,382.40	\$1.50	\$3,780.00	\$5.15	\$12,978.00
700-7010	Furnish and Install LIQUID LIME	Gallon	4	\$20.00	\$80.00	\$14.00	\$56.00	\$20.00	\$80.00		\$56.00	\$224.00	\$515.00	\$2,060.00	\$200.00	\$800.00	\$56.50	\$226.00
700-8000	Furnish and Install FERTILIZER MIXED GRADE	Ton	1.2	\$1,050.00	\$1,260.00	\$2,250.00	\$2,700.00	\$100.00	\$120.00		\$870.00	\$1,044.00	\$515.00	\$618.00	\$750.00	\$900.00	\$500.00	\$600.00
700-8100	Furnish and Install FERTILIZER NITROGEN CONTENT	Pound	65	\$1.65	\$107.25	\$15.00	\$975.00	\$10.00	\$650.00		\$1.91	\$124.15	\$5.15	\$334.75	\$15.00	\$975.00	\$2.00	\$130.00
716-2000	Furnish and Install EROSION CONTROL MATS, SLOPES	Square Yard	1863	\$1.29	\$2,403.27	\$4.00	\$7,452.00	\$1.00	\$1,863.00		\$1.85	\$3,446.55	\$2.06	\$3,837.78	\$1.00	\$1,863.00	\$2.00	\$3,726.00
611-5551	Furnish and Install REST SIGN	Each	4	\$150.00	\$600.00	\$50.00	\$200.00	\$100.00	\$400.00		\$120.00	\$480.00	\$51.50	\$206.00	\$150.00	\$600.00	\$295.00	\$1,180.00
653-1501	THERMOPLASTIC SOLID TRAFT STRIPE, 5 IN. WHITE	Linear Foot/Feet	481	\$0.96	\$461.76	\$4.00	\$1,924.00	\$3.00	\$1,443.00		\$2.75	\$1,322.75	\$1.03	\$495.43	\$2.00	\$962.00	\$2.00	\$962.00
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN. WHITE	Linear Foot/Feet	33	\$7.85	\$259.05	\$12.00	\$396.00	\$8.00	\$264.00		\$9.33	\$307.89	\$10.30	\$339.90	\$10.00	\$330.00	\$9.50	\$313.50
653-1804	THERMOPLASTIC SOLID TRAF STRIPE, 8 IN. WHITE	Linear Foot/Feet	704	\$3.63	\$2,555.52	\$7.00	\$4,928.00	\$6.00	\$4,224.00		\$3.75	\$2,640.00	\$5.15	\$3,625.60	\$4.00	\$2,816.00	\$6.00	\$4,224.00
515-2015	Galv Steel Pipe Handrail	Linear Foot/Feet	80	\$78.00	\$6,240.00	\$250.00	\$20,000.00	\$100.00	\$8,000.00		\$72.62	\$5,809.60	\$80.34	\$6,427.20	\$80.00	\$6,400.00	\$92.00	\$7,360.00
611-3030	Reconstruct Storm Sew Manhole, Type 1	Each	1	\$3,892.60	\$3,892.60	\$6,000.00	\$6,000.00	\$1,000.00	\$1,000.00		\$2,250.00	\$2,250.00	\$5,150.00	\$5,150.00	\$2,100.00	\$2,100.00	\$4,420.00	\$4,420.00
163-0232	Temporary Grassing	Acre	1.6	\$685.00	\$1,096.00	\$2,150.00	\$3,440.00	\$1,000.00	\$1,600.00		\$1,800.00	\$2,880.00	\$515.00	\$824.00	\$850.00	\$1,360.00	\$795.00	\$1,272.00
700-6910	Furnish and Install PERMANENT GRASSING	Acre	1.3	\$1,300.00	\$1,690.00	\$2,750.00	\$3,575.00	\$1,000.00	\$1,300.00		\$2,200.00	\$2,860.00	\$1,287.50	\$1,673.75	\$1,500.00	\$1,950.00	\$1,475.00	\$1,917.50
		Total B	d Amount:	\$474,	,493.49	\$564,	338.00	\$503,3	394.00		\$360	,422.94	\$376,3	323.95	\$344,7	709.00	\$445,9	903.00
				500-3800: Prio	ce is provided	Non-Respons	sible & Non-	Non-Respons	sible & Non-	Non-Responsible & Non-	500-3800: T	he line item			Non-Respons			
				for 500-3800 (		Responsible:		Responsible:		Responsible: Bidder	was revised				Responsible			
					ude Reinforced			not submit Att		submitted the wrong	\$1,120.00 pe				not submit At			
				Steel (Bus She Looks like this		Required Fori not submit lic		Required Form	ns.	Attachment "B" and did not submit the correct	*	es reinforced ands @ 2 CY,			Required	l Forms.		
				not match with	1 2		as required in	.		Attachment "B" provided	this total pri							
				schedule provi		this solicitation				for this solicitation	\$4,220.00 to							
					Also, 500-3107						, ,							
		Bidder (	Comments:	Class A Concr														
					nissing from bid													
					refore, overall natch with what													
				is provided in														
				revised bid sch														
	R	ecommendation f	for Award:								AW	ARD						
									_									

Notes: Complete Site, LLC, Daf Concrete, Inc. and R&B Developer, Inc. have been deemed non-responsive to the solicitation and it's requirements. Bidder's did not complete and submit Attachment "E" - Required Forms for Federally Assisted Construction Projects. Double A&A Grade and Paving has been deemed non-responsive to the solicitation and it's requirements. Bidder did not submit Attachment "B" - Bid Cost Proposal (Bid Sheet) provided in the original solicitation or provided in Addendum No. 4. Bidder submitted the wrong Attachment "B". Bidder submitted Attachment "B" from RFP-0010-25, Sidewalk Design Services instead.

Recommendation for Award: Georgia Highway Cable Barrier, LLC is the lowest responsive and responsible bidder in response to this solicitation and it's requirements.

Prepared by: Tanisha Boynton, Procurement Manager/Procurement Official

		CITB-0014-25, R	EBID FAIRINGTON R	ROAD SIDEWALK P	ROJECT							
BIDDER'S:	Azimuth Contractors, LLC 5645 Enfield Way, Suwanee, Ga., 30024	Complete Site, LLC 706 Greenbelt Park CT, Canton, Ga. 30114	Daf Concrete, Inc. 212 Hicks Dr, Marietta, Ga., 30060, USA	Double A&A Grade and Paving 5415 Ahyoka Drive Morrow Ga, Morrow, Ga., 30260	Georgia Highway Cable Barrier, LLC 1122 Jimson Cir SE, Conyers, Ga., 30013	IP Construction, LLC 1301 Shiloh Rd STE 341, Kennesaw, Ga. 30144	R&B Developer, Inc. 4150 Suwanee Bend Drive, Suwanee, Ga., 30024	Sol Construction, LLC 4120 Presidential Pkwy, Suite 115, Atlanta, Ga., 30340				
Type of Business	LLC - Georgia	LLC - Georgia	Inc Georgia	LLC - Georgia	LLC - Georgia	LLC - Georgia	Inc Georgia	LLC - Georgia				
License to work in the State of Georgia (Georgia Corporation Division)												
Business License in Georgia	Yes	Yes	Yes	Yes	Yes	Yes	Yes	Yes				
Special Terms and Conditions: Required Certicate(s)/License(s)												
Submitted Required Licenses/Certificate etc.	Yes	No	Yes		Yes	Yes	Yes	Yes				
General Contractor License	No	No	No		No	No	No	Yes				
Other Licenses: Certified Underground Utility and Excavation Contractor License	No	No	Yes - Utility Foreman	Non-Responsive & Non- Responsible	No	No	Yes - Utility Foreman	Yes - Utility Contractor				
GDOT: Prequalified Contractor	Yes	No	Yes		Yes	Yes	Yes	Yes				
Copy of Active/Current Business License:	Yes	No	Yes - Dekalb County		No	Yes	No	No				
		Atta	achment "A" - Bidders's	s Required Forms								
Bidder's Certification	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Statement of Qualifications & Acknowledgement of Addendum(s): Four Addendums, 1 Addendum is for Q&A	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Authorized Signatories	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Purchasing Policy Addendum	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Conflict of Interest Disclosure	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Affidavit Verification Status for City Public Benefit Application	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Drug-Free Workplace	Yes	Yes	Yes		Yes	Yes	Yes	Yes				
Georgia Security and Immigration Compliance Act Affidavit ("E-Verify)	Yes	Yes	Yes		Yes	Yes	Yes	Yes				

Georgia Security and Immigration Compliance Act Affidavit ("E-Verify) - Subcontractor Affidavit	Yes	Yes	Yes	Non-Responsive & Non- Responsible	Yes	Yes	Bidder Note on Document: Will provide upon lower bid. Not completed (TB)	Yes
Indeminification Clause	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Non-Collusion Affidavit	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Vendor Certification Regarding Scrutinized Companies List	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Trench Safety	Yes	Yes	Yes	1	Yes	Yes	Yes	Yes
Proof of Insurability	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Bid Bond - Required with Submittal	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Proof of ability to obtain a Performance and Payment Bond	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Schedule 1 and 2	Yes	No	Yes		Yes	Yes	Yes - Submitted Blank	Yes
Subcontractors List	Yes	Yes	Yes	1	Yes	Yes	Not provided	Yes
References: Three (3)	Yes	Yes	Yes		Yes	Yes	Yes	Yes
	ADDITIO	ONAL REQUIRED FOI	RMS FOR FEDERALI	Y ASSISTED CONS	TRUCTION PROJEC	TS		
Tax Liability Certification	Yes	No	No		Yes	Yes	No	Yes
Debarment and Suspension Certification	Yes	No	No		Yes	Yes	No	Yes
Lobbying Certification	Yes	No	No	Non-Responsive & Non-	Yes	Yes	No	Yes
Buy America Certification	Yes	No	No	Responsible	Yes	Yes	No	Yes
Build America, Buy America Certification (Construction Materials)	Yes	No	No		Yes	Yes	No	Yes
DBE/MBE/WBE etc.	DBE	Did not specify or provide documents	DBE/LSBE		Did not specify or provide documents	SBE	Did not specify or provide documents	SBE
		Attachm	ent "B" - Bid Cost Pro	posal Form - Bid Shee	t			
Attachment "B" - Bid Cost Proposal Form - Bid Sheet: <b>Addendum No. 4</b>	Yes	Yes	Yes	Non-Responsive & Non- Responsible	Yes	Yes	Yes	Yes
			ADDITIONAL RE	CVIEW				
SAMs	Yes - No Record	Yes	Yes		Yes	Yes - No Record	Yes	Yes

Scrutinized Companies List	Yes	Yes	Yes		Yes	Yes	Yes	Yes
Debarment and Suspension	Yes	Yes	Yes	Non-Responsive & Non- Responsible	Yes	Yes	Yes	Yes
E-Verify	Yes - No Record	Yes - No Record	Yes - No Record		Yes -No Record	Yes - Record Found	Yes -No Record	Yes - No Record
EXCEPTIONS TAKEN TO CITB BY BIDDER	None	None	None		None	None	None	None
Additional Comment:			not submit Attachment "E" Required Forms.	Non-Responsive & Non-Responsible: Bidder did not submit Attachment "B" - Bid Cost Proposal Form provided in Addendum No. 4. Submitted form from different solicitation.			Non-Responsive: Bidder did not submit Attachment "E" Required Forms.	
Prepared by: Tanisha Boynton, Procurement Official								